
SAP ABAP table CF050 {Balance sheet/P&L (FI/FILC)}

CF050

MANDT [CLNT (3)]

VERSIO [CHAR (3)]

PLACTI [CHAR (1)]

YEARB [NUMC (4)]

PERDE [NUMC (3)]

VERSO [NUMC (2)]

CLSCAT [CHAR (1)]

SUBGRP [CHAR (3)]

COMPNY [CHAR (6)]

COMCOD [CHAR (4)]

BUSARE [CHAR (4)]

BSVERS [CHAR (4)]

SUITEM [CHAR (10)]

LCITEM [CHAR (10)]

GLACCT [CHAR (10)]

RECNR [NUMC (8)]

VALTY [CHAR (1)]

MVCTGP [CHAR (3)]

LCVERS [CHAR (3)]

COUNTR [CHAR (3)]

CHACCT [CHAR (4)]

COMCOD_WAERS [CUKY (5)]

COMPNY_CURR [CUKY (5)]

T852V_RCURR [CUKY (5)]

VERSO_WAERS [CUKY (5)]

QUANTY_UNI [UNIT (3)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 CF050-GLACCT = SKA1-SAKNR 

0..N

1

T000

MANDT [CLNT (3)]

 CF050-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 CF050-COMCOD = T001-BUKRS 
0..N

1

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 CF050-CHACCT = T004-KTOPL 
0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 CF050-COUNTR = T005-LAND1 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CF050-QUANTY_UNI = T006-MSEHI 
0..N

{0,1}

T011

MANDT [CLNT (3)]

VERSN [CHAR (4)]

 CF050-BSVERS = T011-VERSN 
0..N

1

T242V

MANDT [CLNT (3)]

VERSO [NUMC (2)]

 CF050-VERSO = T242V-VERSO 
0..N

1

T242W

MANDT [CLNT (3)]

VALTY [CHAR (1)]
 CF050-VALTY = T242W-VALTY 

0..N

{0,1}

T852

MANDT [CLNT (3)]

RSUBD [CHAR (3)]
 CF050-SUBGRP = T852-RSUBD 0..N

1

T852N

MANDT [CLNT (3)]

FSCAT [CHAR (1)]

 CF050-CLSCAT = T852N-FSCAT 
0..N

1

T854

MANDT [CLNT (3)]

ITEM [CHAR (10)]

 CF050-LCITEM = T854-ITEM 

0..N

1

 CF050-SUITEM = T854-ITEM 

0..N

1

T856X

MANDT [CLNT (3)]

RWGRP [CHAR (3)]

 CF050-MVCTGP = T856X-RWGRP 

0..N

{0,1}

T858

MANDT [CLNT (3)]

RVERS [CHAR (3)]

 CF050-LCVERS = T858-RVERS 

0..N

{0,1}

T880

MANDT [CLNT (3)]

RCOMP [CHAR (6)]

 CF050-COMPNY = T880-RCOMP 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CF050-COMCOD_WAERS = TCURC-WAERS 

0..N

{0,1}

 CF050-COMPNY_CURR = TCURC-WAERS 

0..N

{0,1}

 CF050-T852V_RCURR = TCURC-WAERS 

0..N

{0,1}

 CF050-VERSO_WAERS = TCURC-WAERS 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 CF050-BUSARE = TGSB-GSBER 

0..N

1

TKCVS

MANDT [CLNT (3)]

VERSIO [CHAR (3)]

 CF050-VERSIO = TKCVS-VERSIO 

0..N

1


